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Sec.1

1. 1.5g/m’
2. 0.X.X.0XX

e e N S Y Le 3 a
3. RAMpIT A FE S tan? .

4. 90cc
5. (a)0.2m
(b)RL
6. B>A>C
7. lglcc
8. P2pD): pl

Sec.2
1. (@ 0.9%gw
(b) 5000 kgw/m?2
2. @A>C>B
(b)B>C>A
3. (a) A=B=C
(b) A=B=C
(c) A>C>B
(d) A>C>B
4, -1.5~409~+25
5. Lb 7@ > La "%

Sec.3
2Tcosa +P,r-p hrg
1. P=
r
_ W W+ W)
LC2W, +W,)

3. T=(Piy-Pap)*r/4

Sec.4
1. 60cc
2. AD.F

T ‘r’g \0.88a
A
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Sec.5

1. AC

2. (a 2*10°Pa
(b) 1.46%10° Pa

Sec.6

3cm
2PV/3RT
16416
30cc
15¢cc

3V
471°C
4cm
42cc

© 0N o L W

Sec.7
1. 1 l'f’,
2. 14 [jFﬁ

i Fg \0.88a
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